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a. Calculate the measure of £SPQ .
e
ona=Z [21.8°

~ b. Draw the altitude from point S to PQand label the intersection R. Find SR.

PRE12 tan2L.8=3 |4.5 &

» c. Find PS. Express your gnswerzin terms of feet and inches .
0 " 12 UTDU’ (+.8)"=¢ 17.9 £+ >\28+ 18.81N l

d. Make a scale drawing of the roof on grid paper.

e. Subdivide PR into four equal segments. Label each subdivision point from left to
right A, B, and C. At each subdivision point draw a perpendicular to PR. Label the
ihtersection of each perpendicular with PS from left to right L, M and N. Find LA,

MB and NC.

f. Draw segments LB, MC, and NR. Find these lengths.

g. To complete the truss, reflect the figure acrossSR.
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